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OPIS

8E�QIXSHE�[][SH^M�WMʙ�^� ŰFEHERME�[�H^ME�E-
RMYű� �ERK��EGXMSR� VIWIEVGL
�ũ�TSHINˑGME�� OXɸVI�
�ʇG^]�H^ME�ERMI�M�VIJPIOWNʙ��XISVMʙ�M�TVEOX]Oʙ��F]�
^RENHS[Eʉ�VS^[Mʇ^ERME�TEPʇG]GL�TVSFPIQɸ[��
.IHRS�^�TSHWXE[S[]GL�^E�S˴Iʾ�[�I[EPYEGNM�
REWXE[MSR]GL� RE� YTVEW^G^ERMI� H^ME�ERME�
STMIVE�WMʙ�RE�XV^IGL�T]XERMEGL�ũ�'S#�'S�^�XIKS�
[]RMOE#�'S�XIVE^#�8I�TVSWXI�T]XERME�TS^[SPʇ�
[EQ� TV^IEREPM^S[Eʉ� [MIPI� G^]RRMOɸ[� SVE^�
TSQSKʇ� WJSVQY�S[Eʉ� Vɸ˴RSVSHRI� T]XERME���������
M� H^ME�ERME� F]� []Nˑʉ� RETV^IGM[� [WTɸPR]Q�
MRXIVIWSQ�

2SXIW�HPE�OE˴HIKS�^�YG^IWXRMOɸ[

PREPARATION
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CO, CO Z TEGO WYNIKA, CO TERAZ

Nie wymaga

PRZYGOTOWANIE
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INDYWIDUALNIE: 
4Sˑ[Mʙʉ� GL[MPʙ� RE� ^EWXERS[MIRMI� SVE^� ^ESFWIV[S[ERMI� M� ^ERSXS[ERMI�
VIJPIOWNM�SHRSW^ʇG]GL�WMʙ�HS�OSROVIXRIKS�TVSNIOXY��TVSGIWY�PYF�H^ME�ERME�
[10 MIN]

Co?�'S�[MH^MW^#�'S�Qɸ[Mʇ�GM�HERI#�.EOMI�Wʇ�[WOE˲RMOM�^QMER]�PYF�WXEFMPM^EG-
NM#�.EOMI�W]KRE�]�HS�GMIFMI�HSGMIVENʇ��X]Q�WEQ]Q�YQS˴PM[MENʇG�GM�^EY[E˴ERMI�
^QMIRMENʇG]GL�WMʙ�WGLIQEXɸ[�^EGLS[Eʾ�[�QMEVʙ�MGL�TSNE[MERME�WMʙ#�

Co z tego wynika?�'S�QS˴IW^�[][RMSWOS[Eʉ�^�TSNE[MENʇG]GL�WMʙ�HER]GL#�
'S� ^REG^ʇ� SRI� HPE� GMIFMI� XY� M� XIVE^� SVE^�[� TV^]W^�SˑGM#� .EOM� IJIOX� SFIGRI�
^QMER]�QSKʇ�TSXIRGNEPRMI�[][V^Iʉ�RE�XSFMI��OPMIRXEGL��W^IVSOS�VS^YQMERIN�
WMIGM�OSRXEOXɸ[�SVE^�RE�X[SMQ�TSPY�^EMRXIVIWS[ERME�M�H^ME�ERME#�

Co teraz?� .EOMI� QEW^� STGNI#� .EOMI� QEW^� ^EWSF]#� /MIH]� M� [� NEOM� WTSWɸF�
QS˴IW^�H^ME�Eʉ�ũ�[�TSNIH]ROʙ� PYF� KVYTS[S�ũ�F]� ^STX]QEPM^S[Eʉ� W^ERWI�
WXSNʇGI�TV^IH�SVKERM^EGNʇ��^IWTS�IQ�H^MWMEN�M�[�TV^]W^�SˑGM#�

W PARACH, GRUPACH TRZYOSOBOWYCH LUB NA FORUM:
4SH^MIPGMI�WMʙ�VIJPIOWNEQM��9[E˴RMI�W�YGLENGMI��GS�HS�TS[MIH^IRME�QENʇ�MRRM���
[15  MIN]

NA FORUM:
3Qɸ[GMI� VIJPIOWNI� YTI[RMENʇG� WMʙ�� ˴I� ^RENHYNIGMI� TSQMʙH^]� RMQM� TYROX]�
[WTɸPRI�HPE�Y^]WOERME�W^IVW^IN�TIVWTIOX][]�RE�XIQEX�XIKS��[�NEOMQ�TYROGMI�
XIVE^�WMʙ�^RENHYNIGMI�M�NEOMI�OSPINRI�OVSOM�[EVXS�TSHNʇʉ��[����MIN]

INDYWIDUALNIE: 
4Sˑ[Mʙʉ�XVSGLʙ�G^EWY�RE�TSGL]PIRMI�WMʙ�REH�W[SMQM�[RMSWOEQM��̂ EWXERɸ[�WMʙ�
REH�MGL�[T�][IQ�RE�X[ɸN�VS^[ɸN�SWSFMWX]��IQSGNI��QS˴PM[SˑGM�MXT��[05  MIN]

KROK 1

KROK 2

KROK 3

KONTYNUACJA
4VSGIW� WGEPERME�[RMSWOɸ[� MRH][MHYEPR]GL�[� PIOGNI�[]RMIWMSRI� ^� XIN� TVEG]�
TV^I^�GE�ʇ�KVYTʙ�[]QEKE�WYQMIRRIKS�^FMIVERME�SFWIV[EGNM��ERK��LEVZIWXMRK�
TVEGXMGI
�SVE^�RMIYWXERRIKS�TS[XEV^ERME�GE�IKS�TVSGIWY�

KROK 4

(SHEXOS[E� PIOXYVE��4S�[MʙGIN� MRJSVQEGNM� WMʙKRMNGMI�HS�HSOYQIRXY� ˲VɸH�S[IKS�&EHERMI�[�
H^ME�ERMY����
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